Trace plot, j=6, k=2, t data, simulation run 6

« 10 Bajk, a=5 Bajk, a=3
: : 0.1 : :
I ol |. || . | |
0 | I o : o i 1 T 1 P
-5 ; ‘ ' -0.1 : : :
0 500 1000 1500 2000 0 500 1000 1500 2000
Ubjk' b=21 )‘ijk‘ i=50
" 0.02 " .
0.01 B Uitk bt o gkl e
-0.1 : : :
500 1000 1500 2000 0 500 1000 1500 2000
cpbjk, b=21 anjk, a=5
0.2 0.4 -

0 500 1000 1500 2000 0 500 1000 1500 2000
A2 02
V) V%)

1000
0 ‘ ‘ ‘ 0 il WIVERCIT Lo Py ove (9N
0 500 1000 1500 2000 0 500 1000 1500 2000
U2 g i e
(vaj) , a=5, j=6 naj, a=5, j=6
400 0.4

0 500 1000 1500 2000 0 500 1000 1500 2000

Postereior mean Credible interval — True value



